PRIVATE 

NEWTON'S LAWS  
1. An object with no resultant force acting on it will either    ............................................  

  or......................................................................................................................................

2. Fill in the spaces in the table.

	FORCE    
	MASS    
	ACCELERATION

	
	2kg
	6m/s2

	
	8kg
	4m/s2

	12 N
	4kg
	

	20 N
	5kg
	

	24 N
	
	6m/s2

	36 N                
	
	9m/s2

	    
	500g  
	8m/s2

	
	0.2kg     
	12m/s2

	12N    
	
	50cm/s2

	15N
	
	0.5 m/s2


3. If the force of a bat on a ball is 250 N the force of the ball on the bat is ..................... N 

